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Notes 1-7

Write each expression as an expression with exponents.
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Write each power as a multiplication expression.
7) 6 8) 3 9) 2°
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Evaluate each exponent. GietA 1 # 6 hrl answer
16) 6% @b =[2¢) 17) 3 18) 2°
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What is the value of a number raised to the zero power?
Ex: 3 =4 - o
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Find the Mistake . —_—
Use the space provided to correctly solve the following problems using t e“
order of operations. .
Problem Correction
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; Notes 1-1
\ nt 1 Order of Operations Unit 1
Evaluate the following expressions using the order of operations.
1) 6+3+324244°=
©:3-91241
542 +]
—_

2:Z 4\ = 4+ :@

2) 8[(3+9)-4(3+2)]=
SL(214a) - 4(5Y]
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8’[“.0] =

50+25 15 _
3) I+ g= 35+ - 35¢ 3
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4) 8-55+9+3)=
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B2 - C)(K) =z 92 "L}Oi@

In the problems below, insert operation symbols (+, —, ¢, +) and

parenthesis so that the equation is correct. You cannot change the order of
the numbers. ¥ Tt A€ multely wauys -+ dlo twrse |

5 (5°4)+3-2-1=20 6) (5+4)°B+2)°1=45
® owz-2 -\ = 20 (4> (5)- |
2%-2—ﬁ 4s - |
51 s = 4S5
20 =200 v
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